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2 3,446,000 4,436,000 £.990,000
| 3,659,698 3,974,498 A314,800
= 113,000 149,246 736,246
2 1,285,646 1,242,650 42,996
FOUX A (FEHESESH) 1,701,328 1,701,298 30
o] 1,604,898 1,694,898 0
2 6.430 6,400 30
SETe FuXAMY 1,351,328 1,351,298 30
| 1,344,808 1,344,898 0
2 6.430 6,400 30
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o] 163,569 163,569 0
a 30 0 30
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O==HMaANE H 1,621,600,0008 1,621,600 1,795,512 A173,912
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03 Al& = CH | 0 6,488 6,488
SnHANL K L 0% 0 6,488 £6,488
2 0 6,488 6,488
NESEBBHAAL £ 3,008,400 4,016,000 A1,007,600
2 1,769,000 2,609,000 840,000




SN SAMY
M ZAASS SXPGMAY FA
Sel: ZEHUAMNEXR(FERMESSEEA) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
p]] 430,000 556,000 A 126,000
(= 88,400 130,000 A 41,600
= 721,000 721,000 0
401 Al 2 HIZ 20| 3,008,400 4,016,000 A 1,007,600
=2 1,769,000 2,609,000 A 840,000
Il 430,000 556,000 A 126,000
(= 88,400 130,000 A 41,600
= 721,000 721,000 0
01 A& H| 3,008,400 4,016,000 A 1,007,600
ON=EESZZHLANE SEAY
2,958,400,000 2,958,400 3,966,000 A 1,007,600
2 1,769,000 2,609,000 A 840,000
7| 430,000 556,000 A 126,000
(= 88,400 130,000 A 41,600
2 671,000 671,000 0
A ZAL 2el 1,519,636 1,629,686 A 110,050
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01 g EAH 50,496 56, 146 A5,650
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401 A2 HIL 2T Y] 615,000 615,000 0
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= 25,400 29,954 4,554
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O Z220ota=HelAlE fe2ed(220t=Hel
AA 3L, ARSDHIZE 4500 A)
1,358,000,0002! 1,358,000 1,312,000 46,000
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